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Exam #1
Summer 2021

Thursday 7/1/21
Math 181 — Calculus II

Name: KEY
Score: I

You have 3 hours to finish this exam. Submitted by email will not be accepted.

It’s courtesy that you are the one who take this exam, do not seek outside help of any
kind, please clear your desk, no text book, no notes, not online searching of any kind
while you are taking the exam.

Scan your exam as one pdf file and submit it thru Canvas.

Put your Full Name clearly on the first page.

Exam is due by 4:30pm today. Extended time 30 minutes till 5:00pm for late penalty of
25% of your score.

Show your work clearly. No Work, No Credit.



1.

.

-——

—

W u= @nle)

Integrate the following: (40 pts) JAL - A @(D(ZX)

) *(2x)3[sin* (2x)d

B ] cos(2x)gfin’ (2x)ds As = e (294X
2

< Ndlx
(1~§if\2(m\\‘ m - onle 14/
4/ 9>).u
u%~ du ig(“ -

1/c - e +C

o= U=
sin”' (3x) ,_..’\-——cb(
b ( 1_9x2) d Ay = '/&/q— dx = %’L—W
| = 9Ix*
2 (7
LA
k d _ L. 2
u-=-=7°% 5 o
O



c) I (2x3+5x_7)ezxdx

— XX ,i (.2><3+SX-—7> —th <6x2+5‘>+.s|2 (1o

X 26 ST @QM - 40
oS \:@%éx v
12X, Lﬂ;é’(
2 X)ig etx
o M
Lt w= 1"
O [ tan” (4x)ax X’la'ﬁ)@x)/ g%;b& ég&— 3/i>gotx
Ad - AXIR

o (44) "
Y Xon () ~ —%g "0
4 Jx| X
[+ 1bX llm(”“)xz} *C/



X=| us\xit =2 .
Lej' u= [+IX
j' 1 I =02 U= (x{o=1
e) d u-1= % U
0(1+*/;)3 (u-1)=% 5 2 (-0 =

f) Ie sin(5x)dx = ——‘-.e, %(s:x) + ’nga XCD(DQO(X
X sin ()X \/"‘V\/
280 L el = A *Z ch $n(8x) ~ gég i (§<74><]

) (s AX
20X dx -flp;ﬁr\(sa(\ = 74 A ;%—S.Q ?\(\(@0 — —&S' .Q,

A inﬂ‘ .4
( = figgi X)X = T ()
i’%/\(sx%%/

A0 (\%)Jx

LE ) AL ,&s
=) gue Xecn (50X = ga 5



2
9 H
= A4 4X =X "‘(’if; b})(L/r(b—\rC)Xﬂl\*zc
= X
7).——%”34’ = 3
M,‘(&:’—ﬁ A\)(:"Z \ZF\—L - 0O
Q._. _ - O =) ﬁ—'
A~ 91 B=-1
iA&iCCL o= C,-/LT
L=t - Lal 2
g(b /‘L>i>< - —shabere]™ ) H o
= ﬁ OxF 4T ~ [z £
— _51,,-\\)(&&\4( \(Zlhn G/Z

h

6x° +43x* +12x—40 d

2x* +13x-7 gy
X 1L

- 40
.,2><£+ by 7 } Lx 24 asxt + 12X —4

PSR el
;xR

L 196X —1u

A T

Y,
Ix—26

= g%{{-L + mﬂ)

2

2 éf__ +
= ;%2(\,\.0{%—\—8 ~\

X —26

& Als TR f
= 2

’E_BAX ] ~49-26 =5
X A7 ®\x=»‘l: f}—,\;——/)-

5

X47)

- +C

% \ob(~l\ i bJ/‘\\%’ﬂ\



i 4x -5
RN et (ax-2y'—

T 4X-3 = 2 sec B
adx = 4seb
Jx::gaﬂﬁmﬂJ&

- \s; = (4
ix—wﬂ (4= 202+ 9=

e — |
ﬁj/ cochtandds = AP T b
(losats:

— b
lbsec 8 ]
— ] ﬁw/’\%w
blseds-) T 4 Yound
\E*ﬂﬁﬂ' C_
ot | T
:ig@gQC‘zg"SQ—@ 5 :%Z' i‘W\B'_/Q/’\\‘SQ-C/jﬁ
B 5 s gl "+@
& s U)&P 5 Mﬁia“
b e O
LJ X = u_é ™) AX: éu§601/4-
< 2
= ( _-.UEJM: 6 ; ldﬂ=:6 g\ 123‘%q'
&+l wHs i g
' 2
-3 0 9 S PN Q~5MM'U{% AM
N q -2
2T F A gt
\ ST 4 ~+ C



2. Sketch and then set up the integral(s) for area bounded by the following functions:
y=-x"+3x+4 and x—y=11 for —3<x<7 (5 pts)
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3. Find a constant k so that the line x = k bisects the area bounded by y=cosx, y=0 and x= % (5 pts)
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4. Sketch and then set up the integral(s) for volumes for the region bounded by
x=9y"—y—6 and x=y+2which is rotated about the following lines:
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b) y=4 (5pts)
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5. The base of a solid is bounded by y =¢”

Y5 y=0 for 0<x<1, All parallel cross sections are squares

perpendicular to the base and the x — axis. Find its volume. (5pts)
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6. Prove that the volume of a cone with radius r and heighthis V' = —nr2h (Spts)
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7. a) A heavy cable, 800 m long that weights 500 N is attatched to a 2000 — N — elevator. Calculate

the total work that needed to lift both the cable and the elevator 800m up. (5pts)
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b) It’s required a force of 45 N to stretch a spring 10 cm beyond its natural length. Calculate the
work needed to stretch the spring 15 cm beyond its natural length. (5 pts)
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C) The following tank is full of water. Determine the work required to pump the water out of its

outlet. (10 pts) 4 T —
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8. Evaluate the following improper integrals. (10 pts)
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